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¥E3FE 10 [h—JL 0 o] 100] 190] 200 90 0 70 170 170] 170] 100l 180] 150] 190o] 180] 190] 170[ 170[ 170[ 160[ 160[ 160[ 190
EBE 0 o] 1oo] 190 200 90 0 70 170 170] 170[ 1o0o] 200] 170] 210] 200] 210] 190[ 190] 190[ 180[ 180[ 180[ 210
£E 0 o] 100] 190] 200 90 0 70 170 170] 170[ 100 20 20 20 20 20 20 20 20 20 20 20 20
EZCES 0 o] 1oo] 190 200 90 0 70 170 170] 170] 1o0o] 200] 170] 210] 200] 210] 190[ 190] 190[ 180[ 180[ 180[ 210
kML 0 0 0 0 0 0 0 0 0 0 0 0 80 70 90 80 90 30 80 30 80 30 80 90
EEERLERE] PR B KT B T
48 |58 [6A |7A [8A [9A |10A |11H [12A |[1A |2A [3RA |4A |5A [6A [7A |8A [9R [10A |11A (128 [1A [2A |3A
FATE AES 0 0 0 0 0 0 0 0 0 0 0 0 20 20 20 20 20 20 20 20 20 20 20 20
2k |EBTF 0 0 0 0 0 0 0 0 0 0 0 0 80 70 90 80 90 80 80 80 80 80 80 90
= 0 o] 100] 190] 200 90 0 70 170 170] 170[ 100 80 70 90 80 90 30 80 30 80 30 80 90
EBE 0 o] 1oo] 190] 200 90 0 70 170 170] 170] 100 80 70 90 80 920 80 80 80 80 80 80 90
BT R B = KT B
48 |58 [6A 178 [8A [9A [1o0A [11H [12A [1A 2R [3RA [4A |5A [6A [7A [8A [9H [10A [11A [12H [1A [2A [3H
KEZ4E- 1B B8 BN ELEE 90 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220] 300] 310] 310] 320] 310] 310/ 320] 300] 290] 290] 290 320
HEESHER 90 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220] 280] 290/ 290 300/ 290] 290/ 300/ 280/ 260/ 260] 250 300
£ 90 o] 150] 310] 300 150 o] 140] 280] 280 280 220 80 80 80 80 80 80 80 80 70 70 70 80
RAYISIT 90 o] 150] 310/ 300 150 o] 140] 280 280 280 220 50 50 50 50 50 50 50 50 50 50 50 50
AVEH 90 o] 150] 310] 300 150 o] 140] 280] 280 280 220 30 30 30 30 30 30 30 30 20 20 20 30
kML 0 0 0 0 0 0 0 0 0 0 0 0 30 30 30 30 30 30 30 30 20 20 20 30
P EE = 90 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220] 300] 310/ 310] 320] 310] 310/ 320] 300] 290] 290] 290 320
1 [REEH 920 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220/ 300/ 310/ 310] 320/ 310] 310/ 320] 300] 290] 290] 290 320
BEI—F— 90 o] 150] 310] 300 150 o] 140] 280] 280] 280] 220] 300] 310/ 310] 320] 310] 310] 320] 300] 290] 290] 290 320
ECETR 920 o] 150] 310/ 300 150 o] 140] 280 280 280 220 50 50 50 50 50 50 50 50 50 50 50 50
BRAEH 90 o] 150] 310] 300 150 o] 140] 280] 280] 280] 220] 300] 310/ 310] 320] 310] 310/ 320] 300] 290] 290] 290 320
FEE 90 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220] 150] 160/ 160] 160/ 160] 160] 160] 150] 140] 140] 140] 160
OE— 90 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220] 300] 310/ 310] 320] 310] 310/ 320] 300] 290] 290] 290 320
R—IL 90 0] 150] 310] 300 150 0] 140] 280] 280] 280] 220[ 300] 310] 310[ 320] 310] 310[ 320] 300] 290] 290] 290 320
R—F 0 0 0 0 0 0 0 0 0 0 0 0 80 80 80 80 80 80 80 80 70 70 70 80
EMEESHRE 70 o[ 120] 250] 240 120 o[ 110l 220] 220] 220] 170] 230[ 240] 240] 250] 240[ 240] 250] 230] 220 220] 220] 250
ML (B ipaEED 0 0 0 0 0 0 0 0 0 0 0 0 50 50 50 50 50 50 50 50 50 50 50 50
FIES 70 120] 250] 240] 120 o] 110] 220] 220] 220] 170 50 50 50 50 50 50 50 50 50 50 50 50
TR E 70 120] 250[ 240] 120 o[ 110] 220] 220] 220] 170 30 30 30 30 30 30 30 30 20 20 20 30
HMEIEE 70 120] 250] 240] 120 ol 110] 220] 220] 220] 170] 200 210] 210] 220/ 210] 210] 220] 200] 190] 190] 190 220
IR 720] 740 720] 740] 740 720] 740 720 740] 740] 700] 740 50 50 50 50 50 50 50 50 50 50 50 50
F2UNEEE 720] 740] 720] 740] 740] 720 740 720 740 740 700] 740 30 30 30 30 30 30 30 30 20 20 20 30
REE= (e ) 70 120 250[ 240 120 o] 110] 220[ 220 220] 170[ 190] 190] 190[ 200] 190] 190[ 200] 190] 180] 180] 180 200
2Bt [Lo7LURIL—L 90 0] 150] 310] 300] 150 0] 140] 280] 280] 280] 220[ 300] 310] 310[ 320] 310] 310[ 320] 300] 290] 290] 290] 320
SEE 90 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220] 1oo] 1oo] 1oo] 110] 1oo] 1oo] 110] 1oo] 1oo] 100] 100] 110
kAL 0 0 0 0 0 0 0 0 0 0 0 0 50 50 50 50 50 50 50 50 50 50 50 50
— TR 90 o] 150] 310/ 300 150 o] 140] 280] 280] 280] 220] 300] 310/ 310] 320] 310] 310] 320] 300] 290] 290] 290] 320
ERE 70 120 250[ 240] 120 o] 110] 220[ 220] 220] 170[ 190] 190] 190[ 200] 190] 190[ 200] 190] 180] 180] 180 200
BETRy—R 720] 740 720] 740] 740] 720] 740] 720] 740] 740] 700] 740] 190] 190] 190] 200] 190] 190/ 200] 190] 180] 180] 180] 200

6/6 KA —MIBEEENSREEINIZTA—TUbEA—R([, — BT TRHELTLFET,



